e KS2 SATS

CONTENT DOMAIN REFERENCES:
R1, R4 PRACTICE QUESTIONS BY TOPIC

n Here is a recipe for pasta sauce.

[Fxtral

Pasta sauce

300g tomatoes
120g onions

759 mushrooms

\
Josh makes the pasta sauce using|900g of tomatoes.

What weight of onions should he use?

& 6
120 x 3 3=__C_? 2o o

[1 mark]
n Here are the ingredients for
fish pie for two people. . ¢
[Extra] # PEep Fish pie
(for 2 people)
[250 9 fish |
400 g potato
259 butter
Omar makes fish pie for 3 people.
How many grams of\?i‘s’ﬁ‘!should he use?
250 . 1.5 — 11S
x 3
-~ B2 275 g
3FS
- [1 mark]
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n Chen is cooking some pasta.

[2014]
J The recipe says he needs 350 grams of pasta
for{4 peopie.]
.Hov_\g __many{kilbgramsfof pasta does he need _f_oa' 12'p'eop|_e? ]
]
=]
2 350
£ | x R |
§ 110,50 3(\@11\5'
§ [-O0S kg
7]
 —

[2 marks]

Shortcrust pastry is made using flour, margarine and lard.
The flour, margarine and lard are mixed in the ratio

8 : 3 : 2 by weight.

How many grams of margarine and lard are needed to mix with 200 grams of flour?

Fim: L

" margarne S g lard S g
900 + O

[2 marks]



a Here are the ingredients for chocolate ice cream.
[2016S]

cream {400 ml
milk 500 ml
egg yolks 4
T4 x3
chocolate 120 g
sugar 100g

Stefan has onl\,{’BOOmI})f cream to make chocolate ice cream.

Ho_w much chobdlate’ should he use?

120 .30 —> 20x3 =90

I

q O gram)

( Show your method ]

[2 marks]

Sapna makes a fruit salad using bananas, oranges and apples.

[2005] " For every one banana, she uses 2 oranges and 3 apples.
Sapna uses 24 fruits.
How many oranges does she use?
— | [r[:Td:n ToTAL
- D M _ .
E l [] 2 L 3 G
@ TR
E [ L X 19
; ' |
8 24 3
h
—_

[2 marks]



This is Kirsty’s recipe for breakfast cereal.
[2015] \ _
150 grams|of oats

30 grams of raisins
40 grams of nuts

" '."4‘
b |

If she uses h25§ramsof oats, how many grams of raisins

does she need?

o |
= -
E ox g F1 3 xRS
£ =l +<
5 e—
g FS 6RAMS
7!
..
[2 marks]
n Here is a recipe for fruit squash.
gl Oranges (chopped) 300g )
Lemonade 1500 mi
Orange juice 750 mi
Makes enough for 6 people—

Trina wants to make enough squash for 10 people.

How many millilitres of lemonade will she need?

(o |4 _BEcPlLE j o PeEoflE

gl ISooc-: Soo - ®oeoe xS = 250¢
S =

& 2S00 ML
w3 . .

[1 mark]



n Here are the ingredients for a cordial used to make a drink.
[Extra] (

509 gi_ng_e_r'_
1 lemon
1.5 litres of water

900g sugar

‘|r.'?

Jenny is going to make this cordial with'_'25-g of éi_hg_e_r_._

How much lemon, water and sugar should she use?

{ ™\

25g ginger

The finished drink should be % cordial and % water.

Jenny puts 100 ml of cordial in a glass.

How much water should she put with it?

Y 3 ———

Géb mi

9  loo —» % is 333 s. %ns

e —

66

[2 marks]



m Here is a recipe for raspberry ice cream.

[2001]
£ i
raspberry ice cream
for 8 people
i
2 litre of cream
\'._‘1 kg ra;s;:il.:)erri_es___l1
// b S
250g sugar
\. J
This recipe is for|8 people. |
\ Josie makes enough raspberry ice cream forﬁjz pédple.
- .
?4 How much cream does she use?
b
. - o ’ ? S )
O:5Sx1:5 = Q1. \ 035 litre
Fred makes raspberry ice cream in the same way.
A _
He useslz%kg of raspberries. |
How much sugar does he use?
P,
N |
2 12|50 %215
2 | |
: 12|Si0:*2 | §eo
2 .
— 2 - - t
g 130 xo§r 25 625 &eams |
7 LIZIS
-l S s i 3

[3 marks]



n The table shows a

[Extra] recipe for a fruit drink. ' Type of juice Amount
1 ..

Orange > litre
1 ..

Cranberry 3 litre
G LI

rape g litre

Total ' 1 litre

1. ] .
| want to make}1§ litres of the same drink.

Complete the table below to show how much of each type of juice to use.

Show your working.

ORANLE CRAN BERRY .
2 .1 . 3 i 2. 24 Le 3
5 + " ‘f‘ ._L_t. 3 6 ¢ C
— .y
1
GRAPE
R N
b e 2 17z 11
- 3 Type of juice Amount
\ 2
- | Orange -—-34'— litre
4 ,
- Cranberry "i" litre
! .
Grape "‘q': litre
Total 1= it
ota 5 Itres

[2 marks]



m Here is a recipe for fruit smoothies.
[2009]

Recipe

10 strawberries
% litre of__o_rar_wge juice
1250ml yogurt |
"1 banana

Makesi two [smoothfes
N

\

\\
< :

Stefan uses the recipe to mai{g smoothies.
He uses 1 litre of yogurt. '

How many strawberries does he‘i use?

loxY 25 N 4o

Amir uses the same reié:’ipe.

He wants to make{Sjmoothies.
He has 1 litre of orange juice.

How many more millilitres of orange juice does he need?

% X 2,5 = |25 LiTReS NEE€IE)

: O2§ MORE:(

( Show your method ]

[3 marks]



